Math 273 Divergence Thing Name:

8 Dec 2016 Show appropriate work. Point Values in | boxes|

1. Let W be the solid sphere of radius 2 centered at the origin with positively oriented boundary
S = dW, i.e. outward normal vectors. Let F = (5?91, sin 22016,2016%), compute

/S/F-dS.
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2. Let W be the solid sphere of radius 2 centered at the origin with negatively oriented boundary
S = W, i.e. inward normal vectors. Let F = (:6 + y?016 4 4 5in 22016 5 & 2016“”), compute

é/F-dS,
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3. @ Let W be the solid sphere of radius 2 centered at the origin with positively oriented boundary
S = 0W, i.e. outward normal vectors. Let F = (3z + 32016 sin 22016 24 4 2016%), compute

l/F-dS.
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